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Reason for change:
(

As per the existing TTCN implementation the Test data of 41984 bits is passed as a parameter for the CS RABs (RB10,Rb11 and RB12) in the ASP ‘cas_CRLC_SendContinuousData_REQ’ which could cause unnecessary processing overhead, resulting in long delays in sending the test data. It is possible that the delay is long enough to exceed the overall guard time for the test case. In addition, the huge amount of data is not needed in the ASP as CS Bearers do not require such huge amount of data used in this group of test cases; 

14.6.3, 14.6.3a, 14.6.4, 14.6.4a, 14.6.7, 14.6.8

For these reasons, it is proposed to reduce the number of bits from 41984 to 4000 in ‘cas_CRLC_SendContinuousData_REQ’ to ensure that the test cases run without unnecessary delays and instability.




Summary of change:
(

It is therefore proposed to pass only a small chunk of data to the ASP ‘cas_CRLC_SendContinuousData_REQ’.A variable tcv_AMR_Data calculates 4000 Most Significant bits for the Testdata and passes it on as a constraint inside c_RAB_Tx_Info as shown below




Consequences if 
(

not approved:
TTCN implementation will result in an unstable and delayed system.
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1 Change 1

Table Name
ts_RB_SubTest_Conv64k_TTI20_RB10_RB25_HS ,ts_RB_SubTest_RB10_RB25_RB17_HS, ts_RB_SubTest_RB10_RB11_RB12_RB25_RB17_HS, ts_RB_SubTest_RB10_RB11_RB25_HS_AMR, ts_RB_SubTest_RB10_RB25_HS, ts_RB_SubTest_RB10_RB25_HS_AMR, ts_RB_SubTest_RB10_RB25_RB17_HS

ATS Suite
iWD_2007_wk23

Test Case affected
tc_14_6_7, tc_14_6_3, tc_14_6_3a, tc_14_6_4, tc_14_6_4a, tc_14_6_8

Reason for change
As per the existing TTCN implementation the Test data of 41984 bits is passed as a parameter for the CS RABs (RB10,Rb11 and RB12) in the ASP ‘cas_CRLC_SendContinuousData_REQ’ which could cause unnecessary processing overhead, resulting in long delays in sending the test data. It is possible that the delay is long enough to exceed the overall guard time for the test case. In addition, the huge amount of data is not needed in the ASP as CS Bearers do not require such huge amount of data used in this group of test cases; 

14.6.3, 14.6.3a, 14.6.4, 14.6.4a, 14.6.7, 14.6.8

For these reasons, it is proposed to reduce the number of bits from 41984 to 4000 in ‘cas_CRLC_SendContinuousData_REQ’ to ensure that the test cases run without unnecessary delays and instability.

Summary of change
It is therefore proposed to pass only a small chunk of data to the ASP ‘cas_CRLC_SendContinuousData_REQ’.A variable tcv_AMR_Data calculates 4000 Most Significant bits for the Testdata and passes it on as a constraint inside c_RAB_Tx_Info as shown below.




lt_Subtest

15
 
( tcv_TestPointCount:=1 )
 
 
 

16
 
 [p_Mac_D_PDUSize =336]
 
 
 

17
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 70 ]
 
 
repeat for 70 test points

18
 
 [p_Mac_D_PDUSize =656]
 
 
 

19
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 42]
 
 
repeat for 42 test points

20
 
 [TRUE]
 
I
 

lt_TestPoint

21
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
Anritsu TTCN CR

22
 
+lt_TestPointQPSK
 
 
 

23
 
  +lt_TestPointQAM16
 
 
 

24
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable

lt_TestPointQPSK

25
 
+ts_TestPointInit (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

26
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

27
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 

28
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 ms Cs RAB's, hence 2 RLC SDU's 
@sic R5s-060181 sic@

29
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 ms Cs RAB's, hence 2 RLC SDU's 
@sic R5s-060181 sic@ 
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30
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 

31
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size)*2),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 4 RLC SDU's 
@sic R5s-060181 sic@

32
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size)*2),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 4 RLC SDU's 
@sic R5s-060181 sic@ 
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33
 
 [ TRUE]
 
 
Test Point Not applicable

lt_TestPointQAM16

34
 
+ts_TestPointInit (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

35
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

36
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 

37
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 Cs RAB's, hence 2 RLC SDU's 
@sic 16/12/05 r5s-050604 sic@ 
@sic R5s-060181 sic@

38
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 Cs RAB's, hence 2 RLC SDU's 
@sic 16/12/05 r5s-050604 sic@ 
@sic R5s-060181 sic@ 
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39
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 

40
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 4 RLC SDU's 
@sic 16/12/05 r5s-050604 sic@ 
@sic R5s-060181 sic@

41
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, (BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size) * 2),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 4 RLC SDU's 
@sic 16/12/05 r5s-050604 sic@ 
@sic R5s-060181 sic@ 
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42
 
 [ TRUE]
 
 
Test Point Not applicable

lt_Subtest
15
 
( tcv_TestPointCount:=1)
 
 
 
16
 
 [p_Mac_D_PDUSize =336]
 
 
 
17
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 70 ]
 
 
repeat for 70 test points
18
 
 [p_Mac_D_PDUSize =656]
 
 
 
19
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 42]
 
 
repeat for 42 test points
20
 
 [TRUE]
 
I
 
lt_TestPoint
21
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
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22
 
+lt_TestPointQPSK
 
 
 
23
 
  +lt_TestPointQAM16
 
 
 
24
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable
lt_TestPointQPSK
25
 
+ts_TestPointInit (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
26
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
27
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
28
 
    +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's
29
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
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30
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
31
 
    +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),2),OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's
32
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),2),OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's 
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33
 
 [ TRUE]
 
 
Test Point Not applicable
lt_TestPointQAM16
34
 
+ts_TestPointInit (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
35
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
36
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
37
 
    +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's
38
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
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39
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
40
 
    +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),2),OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's
41
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),2),OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
42
 
 [ TRUE]
 
 
Test Point Not applicable


 

lt_Subtest

15
 
( tcv_TestPointCount:=1)
 
 
 

16
 
 [p_Mac_D_PDUSize =336]
 
 
 

17
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 70 ]
 
 
repeat for 70 test points

18
 
 [p_Mac_D_PDUSize =656]
 
 
 

19
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 42]
 
 
repeat for 42 test points

20
 
 [TRUE]
 
I
 

lt_TestPoint

21
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
Anritsu TTCN CR

22
 
+lt_TestPointQPSK
 
 
 

23
 
  +lt_TestPointQAM16
 
 
 

24
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable

lt_TestPointQPSK

25
 
+ts_TestPointInit_UL_128 (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_TestLoopModeSetup.lB_SetupRB_IE5.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

26
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

27
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's

28
 
  +ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
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29
 
 [ TRUE]
 
 
Test Point Not applicable

lt_TestPointQAM16

30
 
+ts_TestPointInit_UL_128 (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_TestLoopModeSetup.lB_SetupRB_IE5.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

31
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

32
 
   +ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's

33
 
  +ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB12, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE3.rLC_SDU_Size),4),OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR

34
 
 [ TRUE]




lt_Subtest

16
 
( tcv_TestPointCount:=1)
 
 
 

17
 
 [p_Mac_D_PDUSize =336]
 
 
 

18
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 70 ]
 
 
repeat for 70 test points

19
 
 [p_Mac_D_PDUSize =656]
 
 
 

20
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 42]
 
 
repeat for 42 test points

21
 
 [TRUE]
 
I
 

lt_TestPoint

22
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
 

23
 
+lt_TestPointQPSK
 
 
 

24
 
  +lt_TestPointQAM16
 
 
 

25
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable

lt_TestPointQPSK

26
 
+ts_TestPointInit (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

27
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

28
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 

29
 
    +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2),OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 ms for Cs RAB's, hence 2 RLC SDU's

30
 
   +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2),OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 ms for Cs RAB's, hence 2 RLC SDU's

31
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 

32
 
    +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4),OMIT,OMIT))
 
 
TTI =20 ms for Cs and 20 for Cs RAB, hence 2 RLC SDU's

33
 
   +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4),OMIT,OMIT))
 
 
TTI =20 ms for Cs and 20 for Cs RAB, hence 2 RLC SDU's

34
 
 [ TRUE]
 
 
Test Point Not applicable

lt_TestPointQAM16

35
 
+ts_TestPointInit (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 

36
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

37
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 

38
 
    +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2),OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 Cs RAB's, hence 2 RLC SDU's

39
 
   +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),2),OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 Cs RAB's, hence 2 RLC SDU's

40
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 

41
 
    +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4),OMIT,OMIT))
 
 
TTI =20 ms for Cs and 20 for Cs RAB, hence 4 RLC SDU's

42
 
   +ts_TestPointExecute_RB10_RB11_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,3, 
c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4), 
c_RB_Tx_Info(tsc_RB11, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE2.rLC_SDU_Size),4),OMIT,OMIT))
 
 
TTI =20 ms for Cs and 20 for Cs RAB, hence 4 RLC SDU's

43
 
 [ TRUE]




lt_Subtest
15
 
( tcv_TestPointCount:=1 )
 
 
 
16
 
 [p_Mac_D_PDUSize =336]
 
 
 
17
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 70 ]
 
 
repeat for 70 test points
18
 
 [p_Mac_D_PDUSize =656]
 
 
 
19
 
  REPEAT lt_TestPoint UNTIL [ tcv_TestPointCount > 42]
 
 
repeat for 42 test points
20
 
 [TRUE]
 
I
 
lt_TestPoint
21
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
Anritsu TTCN CR
22
 
+lt_TestPointQPSK
 
 
 
23
 
  +lt_TestPointQAM16
 
 
 
24
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable
lt_TestPointQPSK
25
 
+ts_TestPointInit (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
26
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
27
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
28
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's
29
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR
30
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
31
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 10 for Cs RAB, hence 2 RLC SDU's
32
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 10 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
33
 
 [ TRUE]
 
 
Test Point Not applicable
lt_TestPointQAM16
34
 
+ts_TestPointInit (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
35
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
36
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
37
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's
38
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR
39
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
40
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's
41
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
42
 
 [ TRUE]
 
 
Test Point Not applicable


 

lt_TestPoint
22
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
Anritsu TTCN CR
23
 
+lt_TestPointQPSK
 
 
 
24
 
  +lt_TestPointQAM16
 
 
 
25
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable
lt_TestPointQPSK
26
 
+ts_TestPointInit (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
27
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
28
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
29
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 for Cs RAB, hence 2 RLC SDU's
30
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and 20 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
31
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
32
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 2 RLC SDU's
33
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and 20 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
34
 
 [ TRUE]
 
 
Test Point Not applicable
lt_TestPointQAM16
35
 
+ts_TestPointInit (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
 
36
 
 [tcv_TestPoint.flag = TRUE]
 
 
 
37
 
  [ tcv_HS_Cfg.ul_DataRate = r384]
 
 
 
38
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's
39
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),2),OMIT,OMIT,OMIT))
 
 
TTI =10 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR
40
 
  [ tcv_HS_Cfg.ul_DataRate = r64]
 
 
 
41
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's
42
 
   +ts_TestPointExecute_RB10_Rb25( tcv_RB_Data1, tcv_RB_Data2,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Cs and 10 for Cs RAB, hence 2 RLC SDU's 
Anritsu TTCN CR
43
 
 [ TRUE]
 
 
Test Point Not applicable


 

lt_TestPoint

21
 
(tcv_AMR_Data := o_GetMostSignificantBits ( p_Data, 4000))
 
 
Anritsu TTCN CR

22
 
+lt_TestPointQPSK
 
 
 

23
 
  +lt_TestPointQAM16
 
 
 

24
 
   (tcv_TestPointCount:= tcv_TestPointCount+1)
 
 
Test Point Not applicable

lt_TestPointQPSK

25
 
+ts_TestPointInit_UL_128 (qpsk,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size, p_TestLoopModeSetup.lB_SetupRB_IE5.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
@sic R5s060313 sic@

26
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

27
 
  +ts_TestPointExecute_RB10_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's

28
 
  +ts_TestPointExecute_RB10_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1,c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR

29
 
 [ TRUE]
 
 
Test Point Not applicable

lt_TestPointQAM16

30
 
+ts_TestPointInit_UL_128 (qam16,p_Data,p_TestLoopModeSetup.lB_SetupRB_IE4.rLC_SDU_Size,p_TestLoopModeSetup.lB_SetupRB_IE5.rLC_SDU_Size, p_Mac_D_PDUSize)
 
 
@sic R5s060313 sic@

31
 
 [tcv_TestPoint.flag = TRUE]
 
 
 

32
 
  +ts_TestPointExecute_RB10_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1, c_RAB_Tx_Info(p_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's

33
 
  +ts_TestPointExecute_RB10_Rb25_RB17( tcv_RB_Data1, tcv_RB_Data2,tcv_RB_Data2_1, c_RAB_Tx_Info(tcv_AMR_Data,1,c_RB_Tx_Info(tsc_RB10, BIT_TO_INT(p_TestLoopModeSetup.lB_SetupRB_IE1.rLC_SDU_Size),4),OMIT,OMIT,OMIT))
 
 
TTI =20 ms for Ps and Cs RAB's, hence 4 RLC SDU's 
Anritsu TTCN CR

34
 
 [ TRUE]




Test Case Variable Declarations

 

Group:
 


 

Variable Name
Type
Value
Comments
tcv_AMR_Data
BITSTRING
'0'B


 

Detailed Comment:
 


2 Change 2

Table Name
ts_TestPointExecute_RB10_Rb25_RB17, ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17

ATS Suite
iWD_2007_wk23

Test Case affected
tc_14_6_7

Reason for change
In the present TTCN implementation a timer is started and there is no place where the expiry of the timer gets handled.

Summary of change
Therefore the starting of the timer is removed as shown below




Test Step

 

Test Step Id:
ts_TestPointExecute_RB10_Rb25_RB17 (p_Data1_Tx, p_Data1_Rx,p_Data2_Rx:BITSTRING;p_RAB_Tx_Info: RabTxInfo)
Test Step Group Ref:
SubTest/UL_128/
Objective:
 
Defaults:
RRC_Def1
Comments:
 


 

Nr
Label
Behaviour Description
Constraint Ref
Verdict
Comments
1
 
(tcv_RB_Data3 := o_GetMostSignificantBits ( p_RAB_Tx_Info. testData , p_RAB_Tx_Info.rbTxInfoList. [0].sduSize))
 
 
 
2
 
 +ts_SendDataInContineousTTI ( p_RAB_Tx_Info)
 
 
Step 14
3
 
  +ts_SS_ConfigToSendinOneMac_HsPDU (tsc_CellDedicated,tsc_RB25,4)
 
 
 
4
 
   +ts_SS_ConfigToSendinOneMac_HsPDU (tsc_CellDedicated,tsc_RB17,4)
 
 
 
5
 
    AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
6
 
     AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data (p_Data1_Tx ) )
 
Step 14
7
 
      AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
8
 
       AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
9
 
        AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
10
 
         AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data (p_Data1_Tx ) )
 
Step 14
11
 
          AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
12
 
           AM ! RLC_AM_TestDataReq START t_Dly
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data( p_Data1_Tx ) )
 
Step 14
13
 
           AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data( p_Data1_Tx ) )
 
Step 14 START t_Dly 
Anritsu TTCN CR
14
 
            +lt_Receive_LoopBackPDUs
 
 
 


Test Step

 

Test Step Id:
ts_TestPointExecute_RB10_RB11_RB12_Rb25_RB17 (p_Data1_Tx, p_Data1_Rx,p_Data2_Rx:BITSTRING;p_RAB_Tx_Info: RabTxInfo)
Test Step Group Ref:
SubTest/UL_128/
Objective:
 
Defaults:
RRC_Def1
Comments:
 


 

Nr
Label
Behaviour Description
Constraint Ref
Verdict
Comments
1
 
(tcv_RB_Data3 := o_GetMostSignificantBits ( p_RAB_Tx_Info. testData , p_RAB_Tx_Info.rbTxInfoList. [0].sduSize), 
tcv_RB_Data4 := o_GetMostSignificantBits ( p_RAB_Tx_Info. testData , p_RAB_Tx_Info.rbTxInfoList. [1].sduSize), 
tcv_RB_Data5 := o_GetMostSignificantBits ( p_RAB_Tx_Info. testData , p_RAB_Tx_Info.rbTxInfoList. [2].sduSize))
 
 
 
2
 
 +ts_SendDataInContineousTTI ( p_RAB_Tx_Info)
 
 
Step 14
3
 
  +ts_SS_ConfigToSendinOneMac_HsPDU (tsc_CellDedicated,tsc_RB25,4)
 
 
 
4
 
   +ts_SS_ConfigToSendinOneMac_HsPDU (tsc_CellDedicated,tsc_RB17,4)
 
 
 
5
 
    AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
6
 
     AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data (p_Data1_Tx ) )
 
Step 14
7
 
      AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
8
 
       AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
9
 
        AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
10
 
         AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data (p_Data1_Tx ) )
 
Step 14
11
 
          AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB25, c_TrD_Data ( p_Data1_Tx ) )
 
Step 14
12
 
           AM ! RLC_AM_TestDataReq START t_Dly
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data( p_Data1_Tx ) )
 
Step 14
13
 
           AM ! RLC_AM_TestDataReq
cas_RLC_AM_DataReq ( tsc_CellDedicated, tsc_RB17, c_TrD_Data( p_Data1_Tx ) )
 
Step 14 START t_Dly 
Anritsu TTCN CR
14
 
            +lt_Receive_LoopBackPDUs
 
 
Anritsu WKA
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